M CHHOJTHEHUE KEJAHUM




PEIIUTE TECT

1) 45671:9=

a) 30)4B)5

2) 10356:115=

a) 20) 3B) 4

3) 72000 : 900

a) 8 0) 80 B) 800

4) 5045xkr

a) 5T 0) 501 B) ST45KT
5) 2100 : 700

a) 30) 30B) 4




3AMOJHUTE MMPOITYCKH

7 1) B nByx wacax ... MUH
1 2) B monyudace ... MuH

1 3) B Tpéx MuH ... cek

1 4) B 72 yacax ... CyTOK
1 5) B 2 Henmensax ... CyTOK
1 6) B 5-Tu Bekax ... et

1 7) 375 MuH ... 9 ... MUH
1 8 445 MuH ... MUH

7 9)Bb5cyrkax ... u

1 10) B 120 cek ... MmuH




YTAIAUTE 4YMCJIO

/KeHd 3aayma’ia
YU CJI0, MPUOABUIIA
K Hemy 453 u
noayumnyaa 10000.

Kakoe unciio
3aaymasa Kensn?




BBINTOJHUTE JNAEJEHUE

47585:307=
20064:304=
8364:123=
28520:310=
72541:241=
78130:65=




PEIIMTE 3A1AUY

IHosorenue B 4 pasa
T0POKE HOCOBOIO
miarka. Kynuam 12
HOCOBBIX ILJIATKOB H
8 MoJIoTeHel. 3a
IUIATKH 3aNJIATHJIH
72 pyoasi. KakoBa
CTOUMOCTD
noJoreHen?




o -
o -
o -

BAIIIE 'KEJTAHUE MCHOOJHWJIOCH




